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0tan 35

0.7002
20

20 0.7002

14.004

14

DB

AD

DB

DB

DB

DB m

=

=

= ×

=

≈

0

ˆSin

14ˆSin
42

ˆSin 0.3333

ˆ 19 28

DB
BCD

DC

BCD

BCD

BCD

=

=

=

′=
0ˆ2 38 56

ˆ ˆ2

BCD

BCD DAB

′=

> MFk;

1

1

1

1

1}

2
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,yq;ifg; guPl;irj; jpizf;fsk; me;juq;fkhdJ

2932 - fzpjk;  ( Gs;sptoq;Fk; jpl;lk;  )- f.ngh.j(rhjuzju)g; guPl;ir -2020-,Wjpj; jpUj;jq;fs; cs;slf;fg;glTs;sd.

tpdh ,yf;fk; Gs;sp toq;Fk; gbKiwfs; Gs;spfs; NtW Fwpg;Gf;fs;

11

1

1

1

1

1

1

(i)

04

ˆˆ

,  

ˆˆ

CBD BCE

CBD BCE

DB CE

BC BC

CBD BCE

=

∆ ∆

=

=

=

∴∆ ≡ ∆

,y;

( juT )

( nghJ )

( g. Nfh. g )

( epWtg;gl;lJ )

( xj;j Nfhzk; )

( )
0 0

ˆˆ

ˆˆ180 180

ABC ACB AB AC

ABC ACB

= ∴ =

− = −

CBD BCE

=

∆ ∆

=

=

=

∴∆ ≡ ∆

gFjp (i), (iii) 
,y; VjhtJ xU 
,lj;jpy; fhuzk; 

vOj.g;gly; 
Ntz;Lk;.

gFjp (ii) 

,y; fhuzk; 
Njitapy;iy

(ii)

02

( juT )

( juT )

xU Neu;NfhL Kf;Nfhzpapd; 
,uz;L gf;fq;fis tpfpj rkkhfg; 
gpupf;Fkhapd; me; Neu;NfhL vQ;rpa 

gf;fj;jpw;F rkhe;jukhFk;.

AB AC

BD CE

AB AC

BD CE

BC DE

=

=

∴ =

∴ ฀

ˆ ˆABC ADE∴ =

1

1

1

1

1 04

(iii)

( )

,

ˆ ˆ

ˆ ˆ

ˆ ˆ

,

2
  1 2

3

2 3

ABC ADE

BAC DAE

ABC ADE

ACB AED

ABC ADE

AB BC

AD DE

BD BC
BD AB

BD DE

DE BC

∆ ∆

=

=

=

∴∆ ∆

=

= =

=



,y;

( nghJ )

( xj;j Nfhzk; )

( xj;j Nfhzk; )

( rkNfhz Kf;NfhzpfshFk; )

}

}
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,yq;ifg; guPl;irj; jpizf;fsk; me;juq;fkhdJ

3032 - fzpjk;  ( Gs;sptoq;Fk; jpl;lk;  )- f.ngh.j(rhjuzju)g; guPl;ir -2020-,Wjpj; jpUj;jq;fs; cs;slf;fg;glTs;sd.

10

tpdh ,yf;fk; Gs;sp toq;Fk; gbKiwfs; Gs;spfs; NtW Fwpg;Gf;fs;

12

1

1

1+1

1+1

1

1+1

(i) 0ˆ ˆ 90OAP OBP= =
( tl;lg; gupjpapy; njhL Gs;spapy; 
tiuag;gl;l Miu njhlypapw;F 

nrq;Fj;J )

0ˆ ˆ 180OAP OBP+ =

APB฀ xU tl;l ehw;gf;fyhFk; 
( tl;l ehw;gf;fnyhd;wpd; vjpu; Nfhzq;fspd; 
$l;Lj;njhif kpif epug;gp MFk;. )

(ii) CA, AB, OP I ,izj;jy;

ˆ ˆ2ACB AOB=
( tpy; xd;W gupjpapy; mikf;Fk; Nfhzk; ikaj;jpy; 
mikf;Fk; Nfhzj;jpd; ,U klq;fhFk;. )

( OP Neu;NfhL ˆAOB   Nfhzj;ij ,U $wpLk;. )

ˆ ˆ2POB AOB=

( )

ˆ ˆ

ˆ ˆ

ˆˆ   

ˆ ˆ

ACB POB

EAC ABC

ABO OAB OA OB

EAC OAB

=

=

= =

∴ =

03

( xd;Wtpl;l Jz;lf; Nfhzk; )

1
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